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Question 1

Question Type: MultipleChoice

What is the significance of 'Clothes’ in the following filter expression of a report query?

[Product Group] = # sq( prompt( '‘productgroups’, 'token’, 'Clothes") )#

Options:

A) 'Clothes' is the default text to include in the generated query at runtime.
B) The string 'Clothes' will precede the text of the prompt value selected at runtime.
C) The string 'Clothes’ will be appended to the end of the text of the prompt value selected at runtime.

D) 'Clothes' is a required value to include in the generated query at runtime.

Answer:

C

Question 2

Question Type: MultipleChoice




What is the significance of 'Clothes' in the following filter expression of a report query?

[Product Group] = # sq( prompt( 'productgroups’, 'token’, 'Clothes") )#

Options:

A) 'Clothes’ is the default text to include in the generated query at runtime.
B) The string 'Clothes' will precede the text of the prompt value selected at runtime.
C) The string 'Clothes’ will be appended to the end of the text of the prompt value selected at runtime.

D) 'Clothes' is a required value to include in the generated query at runtime.

Answer:
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